FARKLE

FARKLE

SCORE SHEET

Player 1 Player 2 Player 3 Player 4 Player 5 Player 6
[-1[-1[] = 1000 pts [+:] = 50 pts
[C1[C]] = 200 pts [-] =100 pts
[“1[=][=] = 300 pts 1)1 B2 ][] = 1500 pts
2] [z] = 400 pts Three pairs = 750 pts
=] = 500 pts Two triplets = 2500 pts
= 600 pts Three Farkles in a row = Lose 1000 pts

www.elversonpuzzle.com

— DELUXE —
SCORE SHEET
Player 1 Player 2 Player 3 Player 4 Player 5 Player 6
CICIE] =1000pts | [#] = 50pts
1L = 200 pts [-] =100 pts
[“1[=][=] = 300 pts CI [ 1 E3 =] [E3] = 1500 pts
EIEZ 3] = 400 pts Three pairs = 750 pts

][] [] = 500 pts
] 2] 5] = 600 pts

Two triplets = 2500 pts

Three Farkles in a row = Lose 1000 pts

www.elversonpuzzle.com
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